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Unit | General English

Q.1 Select the most appropriate option to fill in the blank.
The Management issued orders asking the members to desist throwing
garbage without segregation.

Ans X 1.by
X 2. for
X 3.in
o 4. from
i
Question IC
Option 1 IC
Option 2 IC
Option 3 IC
Option 4 IC
Status
Chosen Optior
Q.2 Select the most appropriate option to fill in the blank complete the idiom.
To have all the information
Ans X 1.on the tips of your loes
o 2. at your fingertips
7% 3. off the top of your head
< 4. under one’s hand
Question IC
Option 1 IC
Option 2 IC
Option 3 IC
Option 4 IC
Status
Chosen Optior
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Q.3 Select the most appropriate synonym of the underlined word.
The primary impetus for Wilbur and Orville Wright came from their father who
encouraged them to discuss every doubt openly.

Ans X 1. Incumbrance
o 2. Incentive
25 3. Interruption
75 4. Impediment

Que
Opt
Opl
Opl
Opt

Choser

Q.4 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No improvement’.

It is an unique achievement to have launched Chandrayaan- 3 successfully.
Ans X 1. No improvement

X 2.the

o 3. a

X 4. no word
Que
Opl
Opl
Opl
Opt

Choser

Q.5 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No improvement’.

They are preparing the Biryani for dinner tonight.

Ans X 1.a

X 2.an

7< 3. No improvement

" 4. no word
Que
Opl
Opl
Opt
Opi

Choser



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

9/20/23, 11:01 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode 1/1258023

Q.6 Select the most appropriate ANTONYM of the underlined word.
It was pleasure to watch the jaunty dance at the carnival.

Ans X 1.Fast
o 2. Sedate
< 3. Smart
/X 4. Clever

Question Il
Option 11l
Option 2 Il
Option 3 I
Option 4 I
Statu

Chosen Optioi

Q.7 Select the most appropriate option to fill in the blank.

Fora picture on your smart TV you should turn the sharpness down until you
don’t see any outlines.

Ans X 1.clear
72X 2. clearest
o 3. clearer
72X 4. cleared

Question I
Option 11l
Option 2 Il
Option 3 Il
Option 4 I
Statu

Chosen Optiol

8

Q.8 Select the most appropriate option to fill in the blank complete the idiom.
To separate the wheat from

Ans X 1.the grain
72X 2. the weed
o 3. the chaff
75 4. the corn

Question Il
Option 111
Option 2 I
Option 3 Il
Option 4 Il
Statu

Chosen Optiol
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Q.9 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. Consequently, India was a milk-deficit nation dependent on imports, and the annual
production growth was negative for several years.

B. The annual compound growth rate in milk production during the first decade after
Independence was 1.64% which declined to 1.15% during the 1960s.

C. Today, India is the largest producer of milk in the world, contributing 23% of global
milk production.

D. However, during the 1950s and 1960s, the situation was radically different.
Ans X 1.ADBC

X 2. DACB
« 3. CBDA
X 4.CDAB

Question |
Option 11
Option 2 1
Option 3 1
Option 4 |
StatL

Chosen Optic

Q.10 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the correct order to form a meaningful and coherent paragraph.

A. But can she reach the top of the highest mountain in the world?

B. It's the mountains calling to her.

C. In the hilly town of Echali, Tine hears a whisper.

D. As she grows up, Tine dreams of getting closer to her beloved mountains.

Ans X 1.CDAB
o 2. CBDA
X 3. DACB
X 4. ADBC

Question |
Option 11
Option 2 |
Option 31
Option 4 |
StafL

Chosen Optic
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Q.11
Ans

Comprehension:

Read the following passage and answer the questions that follow.

Living as we do with mass-produced food, markets and restaurants in every town, and giant
supermarket complexes that are often just down the road, it takes some imagination to think
of finding food every day in the natural environment. Yet that is just what humans (Homo
sapiens) have done for most of their time on Earth — from their appearance about 200,000
years ago until about 11,000 years ago when they began to develop agriculture. Before Homo
sapiens evolved, our hominine ancestors foraged for millions of years.

Foraging means relying on food provided by nature through the gathering of plants and small
animals, birds and insects; scavenging animals killed by other predators; and hunting. The
word foraging can be used interchangeably with ‘hunting and gathering.’

Humans are not the only creatures who forage; many animals do too. What is different about
human foraging? Answers may vary, but the common idea would be that humans, by means
of our ability to communicate verbally, accumulated knowledge, passed it on to younger
generations and worked together cooperatively. These skills enabled humans to gradually
refine their foraging methods, further distinguishing us from some of our competitors in the
animal kingdom.

In fact, one could say that foraging made us human. As fruit trees in the rain forest became
less abundant in the cooling, drying climate, the hominines who survived had to find other
food sources. As they did, many traits evolved: walking on two feet (bipedalism), loss of most
hair, smaller intestines, larger brains and better communication. These are essentially the
halimarks of being human.

SubQuestion No : 11
Which of the following does the writer NOT mention as a trait of being human?
/< 1. Having larger brains

o 2. Engaging in social activities
X 3. Communicating with fellow beings

X 4. Walking erect on both feet

Quest
Optio
Optio
Optio
Optio

Chosen (
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Ans

Comprehension:

Read the following passage and answer the questions that follow.

Living as we do with mass-produced food, markets and restaurants in every town, and giant
supermarket complexes that are often just down the road, it takes some imagination to think
of finding food every day in the natural environment. Yet that is just what humans (Homo
sapiens) have done for most of their time on Earth — from their appearance about 200,000
years ago until about 11,000 years ago when they began to develop agriculture. Before Homo
sapiens evolved, our hominine ancestors foraged for millions of years.

Foraging means relying on food provided by nature through the gathering of plants and small
animals, birds and insects; scavenging animals Killed by other predators; and hunting. The
word foraging can be used interchangeably with ‘hunting and gathering.’

Humans are not the only creatures who forage; many animals do too. What is different about
human foraging? Answers may vary, but the common idea would be that humans, by means
of our ability to communicate verbally, accumulated knowledge, passed it on to younger
generations and worked together cooperatively. These skills enabled humans to gradually
refine their foraging methods, further distinguishing us from some of our competitors in the
animal kingdom.

In fact, one could say that foraging made us human. As fruit trees in the rain forest became
less abundant in the cooling, drying climate, the hominines who survived had to find other
food sources. As they did, many traits evolved: walking on two feet (bipedalism), loss of most
hair, smaller intestines, larger brains and better communication. These are essentially the
hallmarks of being human.

SubQuestion No : 12

Q.12 Select the most appropriate ANTONYM of the word ‘abundant’.

725 1. Luxuriant
X 2. Lush

o 3. Scarce
X 4. Wasteful

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

9/20/23, 11:01 AM cdn.digialm.com//per/g01/pub/1258/touchstone/AssessmentQPHTMLMode1/125802

Ans

Comprehension:

Read the following passage and answer the questions that follow.

Living as we do with mass-produced food, markets and restaurants in every town, and giant
supermarket complexes that are often just down the road, it takes some imagination to think
of finding food every day in the natural environment. Yet that is just what humans (Homo
sapiens) have done for most of their time on Earth — from their appearance about 200,000
years ago until about 11,000 years ago when they began to develop agriculture. Before Homo
sapiens evolved, our hominine ancestors foraged for millions of years.

Foraging means relying on food provided by nature through the gathering of plants and small
animals, birds and insects; scavenging animals Killed by other predators; and hunting. The
word foraging can be used interchangeably with *hunting and gathering.’

Humans are not the only creatures who forage; many animals do too. What is different about
human foraging? Answers may vary, but the common idea would be that humans, by means
of our ability to communicate verbally, accumulated knowledge, passed it on to younger
generations and worked together cooperatively. These skills enabled humans to gradually
refine their foraging methods, further distinguishing us from some of our competitors in the
animal kingdom.

In fact, one could say that foraging made us human. As fruit trees in the rain forest became
less abundant in the cooling, drying climate, the hominines who survived had to find other
food sources. As they did, many traits evolved: walking on two feet (bipedalism), loss of most
hair, smaller intestines, larger brains and better communication. These are essentially the
hallmarks of being human.

SubQuestion No : 13

Q.13 The word that can best replace ‘complexes’ in the context is:

75 1. obsessions
/X 2. fixations
o 3. facilities

75 4. preoccupations

Question |
Option 1 |
Option 2 |
Option 3 |
Option 4 |
Statl

Chosen Optic
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Ans

Comprehension:

Read the following passage and answer the questions that follow.

Living as we do with mass-produced food, markets and restaurants in every town, and giant
supermarket complexes that are often just down the road, it takes some imagination to think
of finding food every day in the natural environment. Yet that is just what humans (Homo
sapiens) have done for most of their time on Earth — from their appearance about 200,000
years ago until about 11,000 years ago when they began to develop agriculture. Before Homo
sapiens evolved, our hominine ancestors foraged for millions of years.

Foraging means relying on food provided by nature through the gathering of plants and small
animals, birds and insects; scavenging animals killed by other predators; and hunting. The
word foraging can be used interchangeably with ‘hunting and gathering.’

Humans are not the only creatures who forage; many animals do too. What is different about
human foraging? Answers may vary, but the common idea would be that humans, by means
of our ability to communicate verbally, accumulated knowledge, passed it on to younger
generations and worked together cooperatively. These skills enabled humans to gradually
refine their foraging methods, further distinguishing us from some of our competitors in the
animal kingdom.

In fact, one could say that foraging made us human. As fruit trees in the rain forest became
less abundant in the cooling, drying climate, the hominines who survived had to find other
food sources. As they did, many traits evolved: walking on two feet (bipedalism), loss of most
hair, smaller intestines, larger brains and better communication. These are essentially the
hallmarks of being human.

SubQuestion No : 14

Q.14 Which of the following statements is endorsed by the passage?

< 1. Scavenging animals hunted for their own food like other predators.
< 2. The contribution of foraging to the development of the human race is uncertain.
75 3. Animals could rarely distinguish between edible and non-edible foods.

+” 4. Human foraging was different because they could use their power of thinking and
pass on knowledge

Question 1D :
Option 11D :
Option 21D :
Option 3 1D :
Option4 1D :
Status :

Chosen Option :
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Ans

Comprehension:

Read the following passage and answer the questions that follow.

Living as we do with mass-produced food, markets and restaurants in every town, and giant
supermarket complexes that are often just down the road, it takes some imagination to think
of finding food every day in the natural environment. Yet that is just what humans (Homo
sapiens) have done for most of their time on Earth — from their appearance about 200,000
years ago until about 11,000 years ago when they began to develop agriculture. Before Homo
sapiens evolved, our hominine ancestors foraged for millions of years.

Foraging means relying on food provided by nature through the gathering of plants and small
animals, birds and insects; scavenging animals killed by other predators; and hunting. The
word foraging can be used interchangeably with ‘hunting and gathering.’

Humans are not the only creatures who forage; many animals do too. What is different about
human foraging? Answers may vary, but the common idea would be that humans, by means
of our ability to communicate verbally, accumulated knowledge, passed it on to younger
generations and worked together cooperatively. These skills enabled humans to gradually
refine their foraging methods, further distinguishing us from some of our competitors in the
animal kingdom.

In fact, one could say that foraging made us human. As fruit trees in the rain forest became
less abundant in the cooling, drying climate, the hominines who survived had to find other
food sources. As they did, many traits evolved: walking on two feet (bipedalism), loss of most
hair, smaller intestines, larger brains and better communication. These are essentially the
hallmarks of being human.

SubQuestion No : 15

Q.15 The most appropriate title for this passage is:

7< 1. Animal kingdom and food habits
& 2. Humans and Foraging

< 3. Why humans forage in forests
< 4. How eating habits evolved

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Unit Il Reasoning
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Q.1 Study the given bar-graph and answer the question that follows.

The bar-graph shows the sales of five different soap companies in the years 2015 and 2020.
SALES OF SOAP COMPANIES (in 1000 $)
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Which company is at the most percentage loss from 2015 to 2020?

Ans X 1.D
v 2.C
X 3.A
/X 4.B

Question ID :

Option 11D =

Option 2 1D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

\

Q.2 In a certain code language, ‘FOCUS’ is written as ‘TKWEG’ and ‘CALM’ is written as
‘WYNM’. How will ‘GREAT’ be written in the same language?

Ans X 1.SHYXE

" 2. SHUYF

X 3. SYHVF

X 4. SIVYE
Question ID :
Option 11D =
Option 21D : |
QOption 31D =
Option 4 1D =

Status :
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Q.3 Select the figure from among the given options that can replace the question mark (?)
in the following series.

0] 2
a9
[ A2
Ans
X1
4
X 2 Q&.
\Q/
X 3.
o

Question |
Option 1 |
Option 2 |
Option 3 |
Option 4 |
Statu

Chosen Optic

Q.4 Select the number from among the given options that can replace the question mark
(?) in the following series.

3,17, 73,297, 7, 4777

Ans ¢/ 1. 1193
X 2.1183
X 3.1089
X 4.1219

Question |

Option 1 |

Option 2 |

Option 3 |

Option 4 |

Statt

Chosen Optic
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Q.5 Eight friends A, B, C, D, E, F, G and H are sitting around a circular table, facing the
centre.

A is sitting 2nd to the left to the C, who is 4th to the right to G.
Both C and G are not the neighbours of both A and F.
H is sitting at second right of B, who is neighbour of G.

If E is sitting third left of F, then who is sitting 5th to the left to H?

Ans X 1LF
X 2B
X 3D
o 4.C
Question
Option 1
Option 2
Option 3
Option 4
Stat
Chosen Opti
Q.6 Select the letter-cluster from among the given option that can replace the question
mark (?) in the following series.
JAQMN, NMQJ, 7, VEYB, ZACX
Ans X 1. RISH
X 2. SHFU
o 3. RIUF
X 4.VIFU
Question
Option 1
Option 2
Option 3
Option 4
Stat
Chosen Opti

Q.7 Evais ranked 3rd from the top, while Vicky is ranked 7th from the bottom. If there are
12 people between both of them, then what is the position of Eva from the bottom?

Ans X 1.21st

o” 2. 20th

X 3.22nd

X 4.19th
Question
Option 1
Option 2
Option 3
Option 4
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Q.8 Select the letter-cluster from among the given option that can replace the question
mark (?) in the following series.

LOT, NRX, KNS, OSY, ?
Ans 1. JMR

X 2. NP

X 3.XFR

X 4. PMR

Question ID :
Option 1 1D :
Option 2 ID :
Option 3 1D :
Option 4 ID :
Status ;

Chosen Option :

.

Q.9 The equations in the statements represent the heights of the given letters. According
to these equations, find who is the shortest amongst all.

Statements:
NDP>Q>R<L
IL=N>P<K
Ans X 1.K
X 2.Q
X 3N
o 4R
Question ID :
Option 11D ;
Option 2 1D :
Option 3 1D :
Option 4 1D :
Status :
Chosen Option :

Q.10 HE IER, g & fafim A1 & (Wiuar @ ar a@) e safay o §) siees,
Yfagrit & g &7 vgd iy smar 81 IRgeR, IHaR | Ue 37 ved srafay aman
21 9o, Siaex 9 3 f ugd ot aRgeR & et 37 wrafey amar 81 &g, yfasrit &
Bt 91¢ Frafad 3TaT 81 FolifaR, FTadR &1 Srafay STl 8| 9fe Bigaar, Siae 4
s o1 g wrafey aman 2, @) yfagrh frw = safay smar 22

Ans 1 IhdR

X 2. gUar

X 3. T®aR

X 4.3fdaR
Question 1D :
Option 11D :
Option 2 1D :

Option 3 1D :
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@1 |n a certain code language,

Ans

A $ B means ‘A is the daughter of B'.

A F B means ‘A is husband of B'.

A © B means ‘A is the wife of B'.

A 3 B means ‘A is the son of B'.
fD$STOMINFK, then how is K related to D?
< 1. Mother’s mother

o 2. Father's mother

75 3. Mother’s father

75 4. Father's father

Quest
Optiol
Optiol
Optiol
Optiol

13
.

Chosen (

Q.12

Three statements are given, followed by three conclusions numbered |, Il and lIl.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

1. All caps are buttons.

2. Some buttons are doors.

3. Some caps are bottles.

Conclusions:

l. Some bottles are doors.

Il. No bottles are doors.

lll. All buttons being bottles is a possibility.

Ans X 1. Both conclusions Il and Il follow
7< 2. Only conclusion IlI follows
7% 3. Conclusion 1l follows and either conclusion | or 11 follows
«” 4. Either conclusion | or Il follows
Quest
Optiol
Optiol
Optiol
Optiol
$
Chosen (
Q.13 If the second, fourth, sixth, ninth, tenth, and twelfth letter (from left) in the given series

Ans

is used to make a meaningful word, then select the option that indicates the ANTONYM
of the word so formed.

(LJLKYPSFDEACI(R)
75 1. New
X 2. Errorless
/< 3. Simultaneously
o 4. Effortful

Quest
Optiol
Optiol
Optiol
Optiol
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Q.14 Two men A and B are talking to each other face to face, early in the morning. If B’s
shadow is exactly upon A’s body, then in which direction is A facing?

Ans X 1.North
o 2. East
75 3. West
7< 4. South

Question |
Option 11
Option 2 |
Option 31
Option 4 1
Statu

Chosen Optic

Q.15 Three statements are given, followed by four conclusions numbered I, Il lll and IV.
Assuming the statements to be true, even if they seem to be at variance with
commonly known facts, decide which of the conclusions logically follow(s) from the
statements.

Statements:

1. All racquets are chairs.

2. No chairs are tables.

3. Some tables are doors.

Conclusions:

I. Some racquets can be doors.

Il. All doors can be tables.

Ill. All chairs can be doors.

IV. No chairs being doors is a possibility.

Ans X 1. Both conclusions | and Il follow
75 2. Both conclusions Il and Il follow
75 3. Both conclusions | and IlI follow

&” 4. All conclusions follow

Question |
Option 11
Option 2 1
Option 3 1
Option 4 |
Statu

Chosen Optic

Unit 1l Quantitative Aptitude

@1 Find the mean proportion between 49, 81.

Ans X 1. 60
X2 65
X3 62
v 4 63

Question |

Option 11

Option 2 |

Option 31

Option 4 |

Statu

Chosen Optic
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Q.2 Two trains are traveling towards each other on parallel tracks. Train A is traveling at a speed of 80 km/h, while train B is

traveling at a speed of 60 km/h. They are initially 300 kilometres apart. If they start at the same time, how long will it
take for them to meet?

Ans 1. 2,14 hours
X 2. 1.28 hours
X 3. 1.14 hours
X 4. 2.28 hours

Question Il
Option 111
Option 2 Il
Option 3 11
Option 4 11
Statu

Chosen Optiol

Q.3 A group of workers can complete a project in 30 days if they work 6 hours a day. However, due to some constraints, the
mumber of workers available is reduced by 25%, and they can only work 4 hours a day. How many additional days will
it take for the reduced workforce to complete the project?

Ans X 1. 60 days
X 2. 15 days
X 3. 45 days
« 4. 30 days

Question Il
Option 1 11
Option 2 Il
Option 3 11
Option 4 11
Statu

Chosen Optio

Q.4 The batting average for 50 innings of a cricket player is 60 mins. His highest score exceeds his lowest score by 118 runs.
If these two innings are excluded, the average of the remaining 48 innings is 60. Find the highest score.

Ans  X'1. 118 runs
« 2 119 runs
X 3 115 runs
X 4. 122 runs

Question Il
Option 1 1l
Option 2 11
Option 3 11
Option 4 1
Statu

Chosen Optiol
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Q.5 Ifadriver increased her speed from 40 kmvh to 50 km'h, she takes one hour less than the uswal time to cover a certain
distance. What is the distance covered by the driver?

Ans v 1 200km
X 2. 180 km
X3 120 km
X4 100 km

Question 1D
Option 11D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Q.6 A group of 6 workers can complete a project in 12 days. However, due to unforeseen circumstances, 2 workers had to
leave after 3 days. How many additional days will it take for the remaining workers to complete the project?

Ans X 1. 6 days
X 2. 5.5 days
« 3 4.5 days
X 4. 5 days

Question ID
Option 1 ID
QOption 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Q.7 The salaries of A, B. and C are in the ratio 4 : 5 : 6. After one year, based on their work. A’s and C’s salaries are
increased by 5% and 15%, respectively, and B’s salary is decreased by 10%. Find the new ratio of their salaries.

nis R 5 ]
X2 12:8:14
V3 14:15:23
X4 1:2:3

. = e

Question ID
Option 11D
Option 2 1D
Option 3 1D
Option 4 ID
Status

Chosen Option
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Q.8 Ashop keeper sells a wardrobe for 712,000 making a profit of 20%. What is the cost price of the wardrobe?
Ans X 1. 214,000

X 2. 28,000
+ 3 210,000
X 4. 29,000

Question
Option 1
Option 2
Option 3
Option 4
Stat
Chosen Opti

0.9 A bag contains 600 coins of 21 denomination and 1200 coins of 32 denomination. If 10% of 1 coins and 15% of 32
coins are removed, the percentage of money removed from the bag is:

Ans X1 12%
X2 13%
V3 14%
X 4. 10%

Question
Option 1
Option 2
Option 3
Option 4
Stat
Chosen Opti

Q.10 Two numbers are chosen from 1 to 20. Find the probability that they are consecutive.

Ans &1 0.1
X202
X303
X4 04

Question

Option 1

Option 2

Option 3

Option 4

Stat

Chosen Opti
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Q.11 Find the simple interest rate per anmum if a person invested 5,000 for two years and received 25,600 at the end of two

Vedrs.
Ans X' 1. 804
V2 6%
<3 18%
X4 12%
Question
Option 1
QOption 2
Option 3
Option 4
Sta
Chosen Opt

Q.12 The temperature in a city increased from 25 degrees Celsius to 32 degrees Celsius during the summer season. Calculate
the percentage change in temperature during this period.

Ans X' 1. 229 increase
« 2. 28% increase
< 3. 25% increase
X 4. 16% increase

Question
Option 1
Option 2
Option 3
Option 4
Sta

Chosen Opt

Q.13 The average of five number is 12 and the average of three of those number is 14. Find the average of the rest of the two

mimbers.
Ans & 1. 18
X2 10
X3d 13
v4 9

Question

Option 1

Option 2

Option 3

Option 4

Sta

Chosen Opt
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Q.14 What is the probability that a randomly chosen two-digit positive integer is a multiple of 5?

Ans 1. 0.1
X2 025
X3 0.52
X4 0.5
Question
Option 1
Option 2
Option 3
Option 4
Stal
Chosen Opti

Q.15 Ashopkeeper bought a batch of shirts for #2,000. He sold 60% of the shirts at a 20% profit, and the remaining 40% of
the shirts at a 102 loss. Find the overall profit or loss percentage on the entire batch of shirts.

Ans X 1. 16% loss
2. 8% loss
X 3. 8% profit
X 4. 16% profit

Question
Option 1
Option 2
Option 3
Option 4
Stal

Chosen Opti

Section : Unit IV General Knowledge

Q.1 won the most medals (total) at the 3rd edition of Khelo India Winter Games.
Ans X 1. Himachal Pradesh

o 2. Jammu and Kashmir
X 3. Maharashtra
/< 4. Uttarakhand

Question
Option 1
Option 2
Option 3
Option 4
Stal

Chosen Opti
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Q.2 What is the approximate amount allocated by the Government of India for its flagship
rural housing scheme ‘Pradhan Mantri Awaas Yojana (Gramin)’ for the financial year
2023-247

Ans X 1.%79.500 crore
< 2. 60,000 crore
25 3. ¥79.000 crore
o 4. 54,500 crore

Question
Option 1
Option 2
Option 3
Option 4
Stat

Chosen Opti

Q.3 In which year was Bandhan-Konnagar started as an NGO, following which it provided
micro-finance services in West Bengal?

Ans X 1.2003

X 2.2002
< 3.2000
o 4. 2001
Question
Option 1
Qption 2
Option 3
Option 4
Stat
Chosen Opti
Q.4 Which of the following is Asia’s oldest and the world’s third oldest football
tournament?
Ans X 1. Santosh Trophy
75 2. Federation Cup
7< 3. Super Cup
«” 4. Durand Cup
Question
Option 1
Option 2
Option 3
Option 4
Stat
Chosen Opti
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Q.5 Kyriakos Mitsotakis was elected as Prime Minister for a second term, in June 2023, of
which of the following countries?

Ans X 1. ltaly
X 2. Belarus
" 3. Greece
/< 4. Lithuania

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Q.6 Where was the 5th International Conference on Disaster Resilient Infrastructure
(ICDRI) 2023 held in April 20237

Ans X 1. Mumbai
o 2. New Delhi
/X 3. Chennai
< 4. Bengaluru

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Q.7 In which of the following states was the Siyom bridge inaugurated in January 20237
Ans X 1.Assam

X 2. Tripura
¢ 3. Arunachal Pradesh
X 4. Manipur

Question ID
Option 1 ID
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Q.8 Inthe year , G7 (Group of Seven) countries agreed to adopt new Digital Trade
Principles to guide the group's approach to digital trade.

Ans X 1.2022

X 2.2019

X 3.2020

o 4. 2021
Question ID
Option 1 ID
Option 2 ID
Option 3 ID

Option 4 ID
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Q.9 Which of the following statements about Godavari river is INCORRECT?

Ans X 1. The Godavari is joined by a number of tributaries, such as the Purna, the Wardha, the
Pranhita, the Manjra, the Wainganga and the Penganga.

X 2. Itrises in the Sahyadri, at an altitude of 3,500 feet above mean sea level near
Trimbakeshwar in the Nasik district of Maharashtra.

/< 3. The Godavari in the Southern Peninsula has the second largest river basin in India.

«” 4. At Harishchandragad, the river divides into two branches, Gautami and Vasistha.

Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :
Status :

Chosen Option :

X 3. The Raman Research Institute and the Airports Authority of India

Q.10 Which of the following organisations jointly developed a performance-based
navigation system for helicopters, for which India conducted Asia's first
demonstration in May 20237

Ans X 1.Indian Space Research Organisation (ISRO) and The Indian Air Force
o 2. Indian Space Research Organisation (ISRO) and the Airports Authority of India

/< 4. Indian Space Research Organisation (ISRO) and The Raman Research Institute

Question ID :
Option 11D :
QOption 2 1D :
Option 31D :
Option 4 1D :
Status :

Chosen Option :

X 2. US$2 billion
X 3.US$2.5 billion
X 4.US$3.5 billion

Q.11 What is the (approximate) amount of financial assistance approved by International
Monetary Fund for Sri Lanka in March 2023 to help the country overcome its economic
crisis?

Ans ¢ 1. US$3 billion

Question 1D :
Option 11D :
Option 2 ID :
Option 31D :
Option 4 1D :
Status :

Chosen Option :
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Ans

Q.12 Which of the following countries can now use the Indian rupee to settle its trade with

India in addition to other currencies, as per an announcement made by the Ministry of

External Affairs — Government of India on 1 April 20237

75 1. Thailand
X 2. Indonesia
75 3. Vietnam
o« 4. Malaysia

A

Question ID
Option 11D
Option 2 ID
Option 3 1D
Option 4 ID
Status

Chosen Option

Ans

% 1. The US
X 2. Australia
o 3. The UK
X 4. Germany

Q.13 Which of the following countries accorded equivalence to central counterparties
authorised by the Reserve Bank of India (RBI), in June 20237

e

Question ID
QOption 1 1D
Option 2 ID
Option 3 ID
Option 4 ID
Status

Chosen Option

Ans

Q.14 In May 2023, the Reserve Bank of India (RBI) warned banks against the practice of

, that is done by banks to prevent the previous loan from being considered a bad

debt in the banks’ records.
/< 1. revolving of loans

< 2. balancing of loans
X 3. honeycombing of Loans

o 4. evergreening of loans

Question ID
Option 11D
Option 2 ID
Option 3 1D
Option 4 ID
Status

Chosen Option
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